
TECHNIQUES OF CALCULATIONS OF LIMITS. TASKS 
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Calculate limits, using equivalencies: 
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Tasks. Find the limits:  
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x x

 

 
.  

3 2

20

2

x

x x x
lim

x x

 


. 

6

2

3

2 5x

x x
lim

x x



 
. 

2

22

4 7 2

3 8 4x

x x
lim

x x

 

 
. 

2

4 2

2 5 7

3 2x

x x
lim

x x x

 

 
; 

3

22

8

6x

x
lim

x x



 
. 

3

3

2 7 2

3 4x

x x
lim

x x

 

 
;  

20

1

7x

c o s x
lim

x


;  

2

25

2 35

2 11 5x

x x
lim

x x

 

 
; 

2

4

2 10 11

3 2 5x

x x
lim

x x

 

 
; 

2

25

3 6 45

2 3 35x

x x
lim

x x

 

 
; 

3 2

2

4 5 3

3 10x

x x x
lim

x x

 

 
; 

2

22

2 9 10

3 10x

x x
lim

x x

 

 
. 

2

2

8 4 5

4 3 2x

x x
lim

x x

 

 
.. 

2

22

3 5 2

5 12 4x

x x
lim

x x

 

 
. 

3

3 2

2 3 6

10 5 3x

x x
lim

x x

 

 
. 

2

20

7

16x

tg x
lim

x
, 

20

1 8

3x

cos x
lim

x


; 

2

0

5

1 3x

x
lim

cos x 
; 

3

20 5 2x

sin x
lim

x sin x
 


